1. Hro the ninja is rying fe solve an ancient puzzie.

He needs to join all of the mangles together, bot each pair of nembers that tovch need
to round to the same 100.
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Invesfigate how he couvld join the friangles together fo solve the puzzle.

2. Ieebo the alien is fryving o deposit some money he has saved vp. He fills three
envelopes with diferent amounts of money, and each envelope is then rounded to the
nearest 10 or 100 dee to a special offer at the bank.

Envelope 1

Envelope 2 Envelope 3

i Zeebo deposits 1,000 Zog Dollars, explore the different combinations of money that
he could have put in the three envelopes.




